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1. What can be said about the expansion

of 21 _6% swhere n is a positive
mteger ?

(a) Last digit is 4

(b) Last digit is 8

() Last digit is 2

(d) .Last two digits are zero

. What is the locus of centres of circles

which touch 2 given line at a given
point ? '

(2) A line perpendicular to the given

line, passing through the given

point
(b) A line parallel to the given line

(c) A circle tangent to the given line at
the given point

(d) A closed curve other than a circle
. If cos 1° = p and cos 89° = g, then which
one of the following is correct ?

(@) p is close to zero and q is close
to 1

b p<yg
() p=g¢
d pis closé to I and g is close to zero
. Consider those numbers between 300
and 400 such that when each number is
divided by 6, 9 and 12, it leaves 4 as

remainder in each case. What is the sum
of the numbers ?

(a) 692
(b) 764
(c) 1080
(d) 1092
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. Statement — 1

5. Consider the following assumption and

two statements :

1 A number ‘ABC‘DE’ 18
divisible by 11.

c E-D+C-B+ A is
divisible by 11.

Statement -1l ; E-D+C-B+A=0.

Assumption

Statement - [

Which one of the following is correct ?

(a) Only statement—1I can be drawn
from the assumption

(5) Only statement—1IT can be drawn
from the assumption ;

(c) Both the statements can be drawn 7

from the assumption

(d) Neither of the statements can be
drawn from the assumption

: Let LMN De a triangle.
Let P, Q be the mid-
points of the sides
LM, LN respectively.
If PQ?=MP?+ NQ2,
then LMN is a right
angled triangle right
angled at 1.

: If in a triangle ABC,
AB? > BC? + CA?, then
ZACB 1s obtuse,

Which of the following is correct in the
light of the above statements ?

Statement — I1

(a) Both statement ~ I and statement - II
are correct and statement — I is the
reason for statement — [

(b) Both statement - I and statement — II
- are correct and statement — 11 is not
the reason for statement — [

(c) Statement—1 is true, but state-
ment — II is false

(d) Statement —1 is false, but staté.—
ment — II 1s true
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(For the next twe questions to follow) :

The average age of 06 persons living in a_

house is 23-5 years. Three of them are majors
and their average age is 42 years. The

difference in ages of the three minor children

s same.

7. What is the mean of the ages of minor
children ?
(a) 3 years’
(b) 4 years
(c) 5 years
(d) 6 years

8. What is the median of the ages of minor
~ children ?
(a) 3 years .
(b) 5 years
(c) 7 years
(d) Cannot be determined due to in-
sufficient data

9. A three digit number is divisible by 11
and has its digit in the unit’s place equal
to 1. The number is 297 more than the
number obtained by reversing the digits.
What is the number ?

(a) 121
(b) 231
(c) 561
(d) 451

10. If u,-v, w are real numbers such that
3 — 8v3 —27u3 = 18uvw, which one of
-the following is correct ?
(a) u—v+w=0
b)) u=—wv=-w
(€) u~2v=3w
(d) u+2v=-3w

11. Which one of the fo]]owmg is correct ?
(a) Thereisonly one @ with0° < g < 90°

such that sin @ = a, where a is a

real number

(b) There is more than one g with
0° <@ <90° such that sin g = q,
where @ 1s a real number
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12.

13.

14.

15.
. following ?

(c} There is no @ with 0°< g < 90°
such that sin @ = a, where a is a
real number

(d) There are exactly two @s with
0° < g <90° such that sin g = «,
where @ is a reul number

Which one of the following is a correct
statement ?

@ {a}e{{a}, {5}, ¢}
® A{a}c{{a}. b, c}
© {a b} c{{a}. b, ¢}
d) ac{{a}, b, c}

What is the least integral value of k
for which the equation

2 -2k-1)x +(2k+1)=0

has both the roots positive ?

(a) 1

{c) 4

d 0
What is the value of

(3 10g, 1252 log 4 +log 132 +
Iogml) ?

x* + 494 is divisible by which 0ne of the

(@), (2 + 2y +2y?%)
b) «?+2y%)

© (2-2y%)

(d) None of the above

s




(st Y gt & for)

o W ¥ T e 06 FARRAT Hi AT Y
3.5 ad ¥ | IR & 3 AT § ot I siEa
/g 42 o & | 3-AEierT A= A 91g # AR
T B '

7.

10.

11.

FraTfenT srEt Y AT H AT T
(a) 3ad

(b) 4 a9

© 5a9

@ 64

AraTfent ST #t gl H AT =
g7

(@) 399

(b) 5ad

(c) 7 a9

() gty wEsr ¥ Fww fuffa

¥ I g

. ol Y U w11 @ WA R R

=TS & I W IEST ¥ 1 & | a ge
7 ST & IAE X W FAT A1l Gl §
207 s S| AR EET AT ' 7

(@ 121

(by 231

(c) 561

(d) 451 .

W 1, v A w ATEAT G € T THT

& 1 — 83— 27w? = 18uvw, Freafafea

¥ TG UF TEl e ¢

(a) u—-v+w=90

b) u=—v=-w

(¢) u—-2v=3w

(d) u+2v=-3w ‘

et id o At 8 7

@) 0°<g <90° ¥ fird F g & T IFK
fe sin 9=a,aﬁa@mﬁ$
wem &

b) 0°<g<90° ¥ uw & arferw g €
&R fFsing =a,3ﬁa@aﬁ'ﬂﬁﬂﬁ
et 8

12.

13.

14.

15.

() 0°<g<o° HTET g T H
W%sing =a,ﬁ€|’a@ CINICED
aedT 2

(d) 0° < g <90° ¥ Furda: & @ T =™
m%sinf;:a,ﬁlﬁa@mﬁﬁ
qeT g '

Ry TR FT 2 7

(@ {a}e{{a} {b}. c}

®) {a} c{{a}, b, c}

© {a b}c{{a} b c}

(@ aci{a}, b, c}

k &7 TG FATE A A ¢ fordek ferg

AU TR

2 -2k-1)x+2k+1)=0

¥ T 9 g € 7

(2) 1

®) -3

(c) 4

d 0

(4 log,q125 -2 log g4+10g,32+
log,ql)

T AT T & 7

(a) 0 |

(b)

]

(d)

<+ 4y Tmfafea # & s g wr=a
27

@) 2+2y+2%)

(b) (2 +2y%)

©) 2-2%)

(d) Ivdes § & @ T

A - T-DETA-K-FN

~
N

s = =




16. What is the value of : -
[(1 —sin? 9) sec? g +tan? g] (cos? g + 1)
when0< g <90°7 -

(a) 2 .
(h) >?2 I
) =2
d) <2

17. If the highest comron factor of two
positive integers is 24 then their least
common multiple cannot be

(a) 72
(b) 216
(c) 372
) 600

18. If r and s are any real numbers such that
O0<s=<1and r+s=1, then what is the.

maximum value of the product rs ?

(a) 1

® 5
© %
@
19. r is a -non-zero real humber such that
73 > . This is possible only when
@ -1<r<0
(b) O0<r«il
) 1l<r
@ -l<r<l

20. The median BD of tihe triangle ABC

meets AC at D. If BD=1AC, then
which one of the folléwing is correct ?
(a) ZACB = | right angle

) £BAC = 1 right angle
(©) ZABC = 1 right angle
(d} None of the above
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21,

22,

23.

‘What is the remainder when ab is divided

The remainder on dividing given integers
a.and b by 7 are respectively 5 and 4.
by 7 ?
(@) 3
by 4
() 5
dy 6

What is the value of
V2916 + J0-2916 +,/0-002916 +

+0-00002916 ?

(a) 59949
(b) 5-9894
(c) 59984

- (d) 59994

Three circular laminas of the same
radius are cut out from a larger circular

. lamina. When the radius of each lamina
~ cut out is the largest possible, then what

is the ratio (approximate) of the area of
the residual piece of the original lamina
to its original total area ?

(a) 0-30
(by 035
(c) 0-40

(d) 045

24.

The three sides of a triangle are 10, 100
and x. Which one of the following is
correct ?

(@ 10 < x < 100
(b) 90 < x < 110
€) 90<sx=<110

(d) 90=<x<l110
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25,

26.

27.

28.
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— of a work is completed in half a day

by 5 persons. Then, -k 40 of the work can

be completed by 6 persons in how many
days ?

@) 1
(b) 2
(c) 3
(d)

[N

The . shadow of a pole 6 metre high is
15 metre long and at the same time the
shadow of a tree is 25 metre long. What
is the height of the tree ?

(a) 21 m
® 10m
{c}) 35m

(d) None of the above

The speed of a boat in still water is
1 km/h. It can go 12 km upstream and
return downstream to the engine point in
2 hours 45 minutes. What is the speed of
stream 7

(a) 5 km/h
(b) 4 km/h
(c) 3 km/h
(d) 2 km/h

L,
N

D

In the figure given above, AB is a dia-
meter of a circle and CD is perpendicular
to AB, if AB = 10 cm and AE = 2 cm,
then what is the length of ED ?

29,

30.

31.

(a) 5.cm
(b) 4 cm

(€) 10 cm
(d) V20 cm

The stmple interest on a certain sum of

.money for 3 years at 8% per annum is

half the compound interest on Rs. 4,000
for 2 years at 10% per annum. What is
the sum placed on simple interest ?

(2) Rs.1,550/- _

{b) Rs. 1,650/~

(c) Rs. 1,750/-

) Rs. 2,000/-

A man bought a number of oranges at 3
for a rupee and an equal number at 2 for

a rupee. At what price per dozen, should
he sell them to make a pl ofit of 20% ?

(a) Rs. 4
() Rs.5

" (c) Rs.6

(d) Rs.7

If 0595% and cos 0+ 3 sin 9 =2,

then what is the value of g ?

(a) 335

(®)

SR

(c)

ol

(d)

Lo
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32

33.

M.

35.

If 6 men and 8 boys can do a piece of
work in 10 days while 26 men and
48 boys can do the same in 2-days, what
is the time taken by 15 men and 20 boys -
in doing the same type of work ?

(a) 4 days
(b) 5 days
(c) 6 days
(d) 7 days

If 50% of (x—y) = 40% of (x +y) then
what per cent of xis y ?

(a) '10-;-%
b) 114%
©) 134%.

@) 214%

The wages. of labourers in a factory has
increased in the ratio 22 :25 and their
number decreased in the ratioc 3:2.
What was the original wage bill of the
factory if the present bill is Rs. 5,000/- ?

(a) Rs. 4,000/-

(b) Rs. 6,000/-

(¢) Rs. 8,000/- .

(d) None of the above

If a quantity y varies as the sum of three

quantities of which the first vanes as x,
the second varies as —x + x2, the third

'varies as x? - x2 then what is y equal to ?

(@) kx> where & is a constant

(b) kx+ 2+ md, where k, I, m are
constants

(c) kx% where k is a constant

(d). kx where k is a constant
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36.

For any integer n, what is the HCF of
integers m = 2n + 1 and &k = 9n +47?

" (@ 3

® 1

o) 2

37.

(a) m

38.

d 4

If ABC is a triangle right angled at C
and having « units, v units, w units as the
lengths of its sides opposite to the
vertices A, B, C respectively, then what
is the tangent of the angle at A + tangent
of the angle at B equal to ?

() 1

© u+v
@ 7=

Which one of the following is an infinite

set ? ' :

(a) {x:x is a whole number less than
or equal to 1000}

(b} {x:x is a natural number less than

1000}

(¢) {x:xis a positive integer less than
or equal to 1000}

(d) {x:x is an integer and less than
1000}

39. ABC is a right triangle with right angle

at A. If the value of tan B= —~1— then, for

V3

any.real k the length of the hypotenuse
is of the form

(a) 3k
® 2k
) 5k
(d) 9%k
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40. For what value of k, will the roots of the

41.

42.

43.

equation kx2 — 5x + 6 =0 be in the ratio
of 2:37?

(a) 0

(b) I

(c) -1

(d 2

‘What is the value of sin?15° + sin220°

+8in225° + ...+ §in275° 9

(a) tan®15° +tan220° + tan225° ..
+ tan275°

(b) cos?15° + cos220° + cos225° ..
+ cos275°

(©) cot*15° - cot?20° + cot225° — ...,

‘ + cot?75°

(d) sec?15° + sec?20° + sec225° ...

+ sec?75°

Consider the following data :

x| 11 2737475
fl1 3] s ol -2

The arithmetic mean of the above
distribution is 2-96. What is the missing
frequency ?

(@) 4

(b) 6 ‘

(c) 7 R

d) 8

If 'Qc 15 an acute angle and -

) X )
sin @ = _[——, then what is tan o

' 2x

equal to ?
x—1
x+1

(a)

&
Y x—1
©) vx?-1i

(@ vx?+1
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44,

45,

46.

47.

@ 35
b) &
© 1
W &

Suppose the angle of elevation of the top
of a tree at a point E due east of the tree
is 60° and that at a point F due west of
the tree is 30°. If the distance between
thé points E and F is 160 feet, then what
is the height of the tree ?

(@) 4043 feet
(b) 60 feet

(<) % feet
(d) 23 feet

Let WXYZ be a square. Let P, O, R be the
midpoints of WX, XY and ZW respec-
tively and X, L be the midpoints of PQ
and PR respectively. What is the value of
area of triangle PKL 0
area of square WXYZ

One saree was purchased for Rs. 564
after getting a discount of 6% and
another saree was purchased for Rs. 396
after getting a discount of 1%, Taking
both the items as a single transaction,
what is the percentage of discount ?
(@ 35

(b) 4

{c) 7

(@ 75

What is the value of 1-34+4.12 ?

@ . 5
®) 5
(c) 5%—;—%
(d sg&t

=




40.

41.

42.

43.

FHIEO ka? — 5x+ 6=0 ¥ k & fra v/
¥ fow ae ger 2: 3 g H & 7
(a 0 '

®) 1

{c) -1

d 2

sin15° + §in?20° + sin®25° + ..occ.ee. +
sin275° &T A T & ?
(a) tanZ15° + tan220° + tan?25° .....

) + tan275°
(b) cos215° + cos?20° + cos?25° ..... :
+ c0s275°
(c) cot?15° — cot?20° + cot?25° - .....
+ cot?75°
(d) sec215° + sec220° + sec?25° .....
: ' + sec?75°
frefarfad siesl W fa=r il :
X i 2 3 4 5
f 3 5 9 - 2
o B w3 F2 S Gaia AT 296 € |
AT gt T R
(a) 4
by 6
() 7
d) 8
2 o T R § AR sin o= Lz"l
X
2, a tan ¢ % TR B 7
x—1
@) x+1
x+1
(b) -
x—1
©) Jx%-1
d) Jx?+1

13

44.

45.

Brast PKL =1 &%

46.

Wi et fo forelt e % Rrex &7, 38 &
o ¥ forg farg E O 3 i 60° § R
e % ufeew § o famg FoR30° R
R fargalt £ 3 F % TR gl 160 $1
2 RgmATIAE g !

(ay 4043 TR

(b) 60 e

-
(c):/%ﬁz

(d) 23 Tz

T AT WXYZ TF a9 E | W AN
P, 0, RFWW: WX, XY 3K ZW & ez forg
¥ 3l K, L I PQ 9K PR % weAfag
g |

T AF TS 7

T WXYZ &1 SFhe
@ 35

®) %
© 3
d) &

o S 6% H TE N F 9% T 564
T T, o g el 19 F g &
a7 T, 396 ¥ TEy S | afE A Al
T & IRA AT 9, qF ge Y gfawd
FTE 7

(a) 35

" (b) 4

47.

(c) 7
(@& 75

1-34 4 4-12 o7 a7 7 & ?
(ay 3
371
b 55
(c) 52
(d) 5

A - T-DETA-K-FN



48.

49,

50.

Three lines intersect each other in pairs.
What is the number of angles so
formed ?

{a) 3
(b) 6
c} 9
(d 12

-

ABCD 1s a square, P. Q, R. § are points

'on the sides AB, BC, CD, DA respectively

such that AP =BQ = CR = DS. What is °

£8SPQ equal 10 ?

(a) 30° '

(b) 45°

(c) 60°

(d) 90°

A new frequency distribution is con-
structed by doubling each frequency of
the original distribution keeping the
other entries intact. The following

measures are computed for both the
tables :

1. Arithmetic mean
2. Median
3. Harmonic mean

Which of the following statements ‘with
reference to above is correct ?

(a) Corresponding values of | and 2
only are equal in both the distri-
butions :

(b) Corresponding values of 1 and 3

only are equal in both the distri-"

butions

(¢) Corresponding values -of 2 and ‘3
only are equal in both the distri-
butions

(d) Corresponding values of |, 2 and 3

are equal in both the distributions

T-DETA-K-FN - A
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51.

i

A ladder of 17 ft. length reaches a
window which is 15 ft. above the ground

‘on one side of the street. Keeping its

foot at the same point the ladder is
turned to the other side of the street and
now it reaches a window 8 ft. high.
What is the width of the street ?

(a) 23ft.

(b) 15ft.

(cy 25ft.

(d) 30ft

52. ABC is a triangle, The internal bisector

53.

of ZABC and the external bisector of
ZACB meet at D. Which one of the
following is correct ?

() ZBDC=/BAC
(b) £BDC=1sBAC
() £BDC=/DBC

(d) «BDC=1sABC

The following sets of conditions relate to
two triangles ABC and DEF. Which set
of conditions does’ not guarantee the
congruence of ABC and DEF ?

(a) a:d,b:e,c:f‘
(b)) LB=LE, LC=4LF, a=d
() c='f, b=e, LA=1D

() c=f b=e, /B=LE




49.

50.

v Xt e g A g o gR
& | gl S o Y der R ?

(a) 3

(b) 6

(c) 9

d) 12

ABCD U& & & | P, Q, R, S FWT: 0t
AB, BC, CD, DA R 55 § 0 ¥&K
%5 AP=BQ=CR=DS | £sPQ fFas
TR g7
(@) 30°
(b) 45°
(c) 60°
@ 90°
sty et = sTegouT 7@ §U A &ed
®E R H FTN A L TF T
ATEHTCAT FeA ST 7147 | S aRivEt &
fore Frrafarfea wra sfiefoa R m
1. GHTGL ATEA
2. wifeienT
3. BT A
Itk ¥ gasf o Fafafe & @ @ &
FAT e & 7
(a) <A FeAT & deret 1 3R 2 & 0T A
T g '
(b) QY AT e | 3K 3 & EA A
T &
(c) ST FAT H Fae 2 3R 3 & §I AA
TR &

() A FATH 1,2 IR 3 F TR AA

R §

15

51.

e

48.

17 $1e Y @ iET 5E & T T ERIaA
¥ 15 $rz IR B fagdi as wgad 2|
R ¥ qre F g fag | @ g @
aeF $I TEA aCH AT ST € AL I
T8 8 hiz & F R o fsd o=
gt €| we ft AR # e Y

(@ 239k

52.

53.

M) 15F<
(c) 25k

(d) 30%R
ABC T& Brgsl 8| LABC & AN
adfF R LACB &7 a1 ¥H&, D W

firery & | Freaforfie # & 49 &7 o w@
g7

(2) £BDC=£BAC

(by £BDC=4%/BAC
(c) £BDC=£DBC

(d) £BDC=%/ABC

e sRvw agaa A BaEi ABCHR

 DEF ¥ watia & | &9 | gfasy @ed

ABC % pEF &Y gafrawar gty wgt

& ?

(@ a=d, b=e c=f

(b) ZB=/ZE, £C=4LF,a=d
) c=f,b=e, LA=/D

(d) c=f.b=e, L/B=LE
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a rate

54. Consider the following data :
!

Year 1911-21{1921-31 { 192)-41 | 1941-51 1955-61[1961-71 [ 1971-81

Binh 48.1 | 464 | 45.2 | 399 417 4 411 371

|Death| 38.5 [ 363 | 31.2 | 274 $22.8 ¢ 359 14-8

rate

For which period is. the natural growth
rate minimum ?

(a) 1911-21 ,

®) 192131

{c) 1951-61 5

(d) 1961-71

55. The middle points of the parallel sides
AB and CD of a parallelogram ABCD
are' P and Q respectively. If AQ and CP
divide the diagonal BD into three parts
BX, XY and YD, then which one of the
following is correct 7

(@) BX#XY+YD . '
‘(b),. BX =YD=+ XY

(c) BX:XY=YD
(d) XY=2BX

56. Consider the following statements in
respect of any triangle :

1. The three medians of a triangle
divide it into six triangles of equal
_area. : :

2. The perimeter of a triangle s

greater than the sum of the lengths
of its three medlans

Wh:ch of the statements given above _

1s/are correct ?

(a) 1 only

(b) 2 only

(¢} Both 1 and 2
{d) Neit’lj'er 1 nor 2

T-DETA-K-FN - A
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57.

58.

The volume of a cone is equal to that of
sphere. If the diameter of base of cone is
equal to the diameter of the sphere, what

- 1s the rafio of height of cone to the
diameter of the sphere ?

@ 2:1
by 1:2
© 3:1
(d) 4:1

A parallelogram and a rectangle stand on
the same base and on the same side of
the base with the same height. If l;, 1, be
the perimeters of the parallelogram and
the rectangle respectively, then which
one of the following is correct ?

@ i<l
b =1

C© 4> Lbutl z2l,
@ 1, =214

59.

60.

A person travelled by train for 1 hour at
a speed of 50 kmph. He then travelled by
a taxi for 30 minutes at a speed of 32
kmph to complete his journey. What is
the average speed at which he travelled
during the journey ?

(z:l) 44 kmplhr

(b) 42 Kmph

{c) 4] kmph

(d) 33 kmph

Two similar parallelograms have corres-
ponding sides in the ratio | : k. What is
the ratio of their areas ?

(a) 1:3k2
by 1:442

o) 1:42

d) 1:242




I

54. fmafofa ates) w faar fife

a'é 1911-21{1921-31 | 1931-41 ] 1941-51 | 1951-64 | 1961-71 [1971-81

48-1 | 46-4 | 45.2 | 399 | 417 | 411 371

SR
=
T | 385 | 365 | 312 | 274 | 228 | 359 | 148
T

i et § gefow 3fg | =Faw
g?

(a) 1911-21

(b) 1921-31

() 1951-61

(d 1961-71

55, TR FOHA ABCD Ht HAIR Al
AB @R D ¥ qeaferg Ay PR QB |
afs AQ @R cp, et BD &Y T T9W
femt Bx, Xy 9% D ¥ ffsa &
A PR s aTw aer g 7
(a) BX#XY=#YD '

(b) BX=YD#=XY
(c) BX=XY=YD
(d) XY =2BX

56. e ot freer & g & fmfataa s
Wﬁ?ﬁ?ﬁﬁq
1. B f o wifeareg S @A
SR & ©: gl § Gl st
gl
2. et v iy gaehy AT wifeni
- &t daT 3 AR & i g
IR A sar/aage /2 7
(a) FaA 1
(by *F 2
) 1 @2 &
(d) 7aAT1 TE2

17

57.

‘58,

59.

60.

T §F & AWAA CF WA F AR
SR & | WK O F AT FT A MA
¥ ST & SR & ar A Y F9TE F A
& ofTE W T A B 7

(@) 2:1

b 1:2
(c) 3:1

(d 4:1

A S & gER S o) amad
T B ST 9 ST AT & TH E AT
ax ¥ | aft s T o A
ot s 1, 9 1, &, @ Pt ¥
AW AT TR R 7

@ I, <k

®) & =1

) 1> LAl # 21,

@ I =21

us =afts ¥ W & 50 kmph I ¥
| a2 a7AT Y | G A% IEq T A
32 kmph 1 TR & 30 T a7 F AT
AT 1 =T Rt | AT & A 9 for
sffee =T & arAr i 7

(a) 44 kmph

(b) 42 kmph

(c) 41 kmph

(d) 33 kmph

2t wHEy GHwGR Tl 1 e e
FTATAS 1 k ¥ | ITeh SAT T NS
T g 7

(a) 1:3%%
() 1:4k%
() 1:&2
(@ 1:2k%
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* 61. What is the number of circles passing
through a given pair of points ?

(a) One
(b) Only two
(c) More than two, but finite
{(d} Infinitely many

62. Two circles touch each other externally
at P. Two secants APB and CPD are
drawn through P to meet the circle at
A, C and B, D respectively. Then, which
one of the following is correct ?
(a) AC is perpendicular to BD
(b) AC intersects BD

(¢) AC is parallel to BD

(d) None of the above

In the above figure, what is x equal to ?

a

(a) 3

(b)
a

(c) 75'

(d) N

- T-DETA-K-FN - A
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6S.

66.

In the figure given above, AB is parallel
to LM. What is angle a equal to ?

(a) m+b+c
b)Y 2m-b+c
() 2m-b-c

d) 2x+b-~c
If the expressions px3+3x2-3 and
2x3 — 5x + p when divided by x - 4 leave

the same remainder, then what is the
value of p?

(@ -1

() 1

(c) -2

(d) 2

Ifx(x-i_-y+z)-—_-9, yx+y+2)=16 and
z(x + y + z) = 144, then what is x equal
to ?

(a)

o

(b)

=2

()

Sl

(d)

Sl




61.

62.

63.

Fe v g g & o T 7

|’

(a) @&

(b) FaT A

© =& ufte wfe aitfia

(d) SFad: 3FF

2 99 & gER S e P R e FRd
£ P ¥ 2 g¢ D BIF APB S CPD
TR S g B FAW: A, CHR B, D

w e § o, fefafea v a s o
TF wE § 7

(a) AC, BD & ®<aq &
() AC. BD &1 9fi=de o=t

(€) AC, BD ¥ A9IR &

(d)aqvi?ﬁﬁ%aﬁéaﬁ
A
a x ) a
g 330 D6°° 30

IR AR, x oy et g ?

(a)

Wik

(b)

r3l o

(c)

5

(d)

S

19

65.

7€ 2 ™ R H AB, IM & GHETRX
%Ia?mraﬁm%auat%?

(@ m+b+c
d) 2mr-b+c
() 2n-bh-c
(d) 2n+b-c
H‘E{aiaﬁpx3+3x2-33ﬁf2.x3—5x+p

i x— 48 P ST g ar Qi
RS FAW & | p FT AW T 7

@) -1
®) 1
) -2
(d) 2

AR x(x+y+2)=9. y(x+y+2)= 16 3R

Z(x+y+27)=144 TR x AR TR ?

(a)

(B3N

~ I

®)

e

©

£

|

@

W
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67. A person invested some amount at the

68.

09.

- B® C

rate of 12% simple interest and the
remaining at 10%. He received yearly an
interest of Rs. 130. Had he interchanged
the amounts invested, he would have
received an interest of Rs. 134. How
much money did he invest at different
rates ? ,

(@) Rs.500 @ 10%, Rs. 800 @ 12%
(b) Rs. 700 @ 10%, Rs. 600 @ 12%
(c) Rs. 800 @ 10%, Rs. 400 @ 12%
(d) Rs.700 @ 10%, Rs. 500 @ 12%
A man is watching from the top of a
tower a boat speeding away from the
tower. The boat makes an angle of
depression of 45° with the man’s eye
when at a distance of 60 m from the
bottom of tower. After 5 seconds, the

* angle of depression becomes 30°. What

is the approximate speed of the boat
assuming that it is running in still
water ?

(a) 315 km/h

(b) 365 km/h

(c) 385 km/h

(d) 40-5 km/h

A D

In the figure given above, the side of

square ABCD is 7 cm. What is the area
of the shaded portion, formed by the
arcs BD of the circles with centre at C
and A ?

(a) 7 cm?

“(b) 28 em?
“(¢) 14 cm?
(d) 21 cm?

T-DETA-K-FN - A
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The marks of the students of a class who
appeared for a test in English are
represented in the following frequency
table :

Class
"I imterval

1-10111-20§21-30 ] 31-40) 41-50| 51-60

Frequencyf{ 9

20 i2 8 100
(Total

frequency)

71.

What is/are the modal class{es) ?
{(a). 10-5-20-5 only |

(b) 20-5-30-5 only

() 10-5-20-5 and 20-5 - 30-5

(d)- There is no modal class

The length, breadth .and height of a
rectangular parallelopiped are in ratio
6:3:1. If the surface area of a cube
1s equal to the surface area of this
parallelopiped; then what is the ratio of
the volume of the cube to the volume of

_ the parallelopiped ?

72.

(a) 1:1
) 5:4
(c).7:5
d 3:2
A rectaﬁgular'tank whose length and
breadth are 2-5m and 1-5m respec-
tively is half full of water. If 750 litre
more water is poured into the tank, what

is the height through which water level
further goes up-?

(@) 20 cm
(b). 18 cm

(c) 15_ cm

(d) 200 cm




67. T AT 7 F TRT 12% i R T FTERT
=TT 9 AR AT T 10% X [y $i
I QT &. 130 &1 = e | afg soq
3y & 7 ol & sEar-se & &
BYet at S/ . 134 o1 <4751 916 ST | Sa9
i R ) et iy foasr & ?
(a) & 500 @ 10%, & 800 @ 12%
(b) % 700 @ 10%, & 600 @ 12%
©) T 800 @ 10%, & 400 @ 12%
(d) & 700 @ 10%, & 500 @ 12%

68. w =ifeh e & firee & zraT & X Bt
AT FT FTAET T T & | T F AT
60 m Y g T 717 safer A A q 45°
T FITHT FIT FAEAN € 1 5 e & A
AT 0T 30° B HT & | TS A [
T AR a9 ¥ afdwmE 8, sad et
aa e’

(a) 315 km/h
®) 365 km/h
(¢) 385 km/h
(d) 40-5 km/h

69.

A D

ﬂ"’
] J
B C

wo¢ o ™ fam & =t ABCD &Y 9o
7 cm &1 C AT A e Aot I & & TG

BD g Tl enfaa wm &1 S @
g7

(a) 7 em?

(b) 28 cm?

(¢) 14 cm?

(d) 21 cm?

70, @S Er ¥ A3 I, T FET H
farenfRfaY ¥ Rt Y FRERar o i
AW

_'q'?f 1-10| 11-20} 21-30} 31-40 | 41-50 | 5160
HFUR

aafe] o | 22| - 20| 12| 8 [ 100
(st
afa)

Aed Tf T /8 7

(2) 10-5-20-5 &4

() 20-5-130-5 AN

) 105-20-5 &R 20:5-305
(@) @ Ae T T8 T

71, GRS GHIGCECH® i daTs, 918
W 6:3:1 F AT W § | AR
FE & T §AH 56 THIRTEHOE &
qElT S% & ILEE & a1 FE & AFT
T THIGCITESS & AAaT & FIT I
g7
(@ 1:1
by 5:4
© 7:5

(d 3:2

72. TFH AHATER FT Foraeht ewers 3K Herg
FAW: 25 m A 1-5 m &, I & AT 9
2 1 afe 750 &R iR 1w T § eren 9,
A st &R R forgnt S=1E g s ?

(a) 20 cm
(b) 18 cm
(¢ 15cm

(d) 200 cm
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73. What is the weighted mean of first
10 natural numbers whose weights are
equal to the corresponding number ?

74.

(
(c) %nh(rf +r§ -—rl::?)
(

75.

76.

(@

(a)y 7

(b) 55
(c) 5
(d) 45

What is volume of the frustum of a cone
with height h and radii ry, r, ?

(a) %nfz(r%+r§‘) .

(b)

(d)

A cyhinder having base of circumference
60 c¢m is rolling without sliding at a rate
of 5 rounds per second. How much dis-
tance will the cylinder roll in 5 seconds ?

(@) 15m

{(b) 1'3m
(c) 30m
(d 3m

A semi circular thin sheet of a metal of
diameter 28 cm is bent and an open
conical cup is made, What is the
capacity of the cup ?

10;)0 3 om?

30043 cm?
700

()
3 em® -

(€}

1078
3

(d) 3 cm?

T-DETA-K-FN - A
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71.

78.

Sialler lead shots are to be prepared by
using the material of a spherical lead
shot of radius 1 cm. Some possibilities
ar¢ listed in the statements given below :

1. The material is just sufficient to
prepare 8 shots each of radius
0-5cm.

2. A shot of radius 0-7Scm and a
second shot of radius 0-8 cm can
be prepared from the available
material.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only

~{c) Both 1 and 2

{(d) Neither ! nor 2

A hemispherical bowl of internal radius

20 cm contains sauce. The sauce is to be

filled in conical shaped bottles of radius
Scem and height 8cm. What is the
number of bottles required ? ’

(a) 100
(b) 90
(c) 80

) 75

79.

A hemisphere is made of a sheet of a
metal 1 cm thick. If the outer radius is
5cm, what is the weight of the hemi-
sphere (1 cm® of the metal weighs 9 g) ?

(@) S47g

(b) 366rmg
(c}) 122mg
(d) 108 7 g




73.

74, 3

75.

76.

(a)

(c)

(@

gaw 10 eaquiel 1, s W)
Ferrei ¥ aae €, i@ e Fw R 7
(@) 7
(b) 55
© 5
(d 45

©
@ ymh(r}-13)

Gﬂmqﬁ%ﬁmﬁﬁr@aﬂ?ﬁﬁﬂ
wdur for aftr &R 5 =eERC STET e
FeoF FLEIE | 5 303§ Saq fear g
Qe a7
(@ 15m
() 1-5m
() 30m
(d 31

28cmm#m§ﬁmwﬁ
q1eC FT WISH TS g GATHIT AT
ST ST & | 9 e i ennfiar #4  7

.!_03.0. 30m3

30043 cm’®
700

(b)

3 cm?

1078 '\[i em?
3
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71. lcmW%Wﬁ%ﬁ%W
T ITWT I @R F amegd B %
Iy I € | Fo gwEAn A R @
Faar ¥ TE 2

1. werf, 9@ 0-5cm Beam F 8 &
FA & oo waferE 2

2. F9wey 2 & 0-75 em B 1 %
ot #fi 0.8 cm FBroam &1 gaw =
. AT AT Ghar § |

ITdeh FoF /F A & @ /8wl
g/%7 :
(a) Fae 1 '

(b) Fae 2

(c) 1 32 A

d aar1T@2

78. 20 cm SafF BT & snfeng IR A

o & | 3o °ig 7 5 om BT @R 8em

9 e FTER S ¥ 9T g1
AT Sl gedT ;T g !
(a) 100

(b) 90

(c) 80

@ 75

79. 1 cm RIS €1 T TF AR F TF e

ST 9T & | Al ey BT Som ® @
sy FT AR TR ? (1 cm? 11 FT AR
9og®) |

(@) 54ng

(b) 3667 g

) 122mg

d) 1087mg
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| 80.

81.

- 82.

. 83,

A sphere and a cube have same surface
area. What is the ratio of the square of
volume of the sphere to the square of
volume of the cube ?

(a) m:6
(by 1:1
() 6: 7
(d 3:m _

If7 cos? @+ 3 sin2 =4 and 0 < 8 < g
then what is the value of tan 6 ?

@ J7

b %

(c) 3

d 3

With the help of histogram one can
prepare

(a) Frequency polygon

(b) Ffequency curve .

(c) Frequency distribution

(d) All of the above

X — 2 F
125N/
C
Y /ﬁo
A B
4

F

Three straight lines X, Y glhd Z are
parallel and the angles are as shown in
the figure above, What is ZAFB equal

- to ?

(a) 20°
(b) 15°
(c) 30°
(d) 10°

T-DETA-K-FN - A
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85.

A B

(£ADB=ZAEB=90").
Consider the following in respect of the
above figure :
1. ADAC~AEBC
2. CA/ICB=CD/CE
3. AD/BE =CDICE
Which of the above are correct ?
(a) 1,2, 3
(b) 1, 2 only
©
(d)

1, 3.'0In1y
2, 3 only
The table below gives the number of

members of a club classified by sex and
nativity : - '

ativity | Locals | Migrants | Total
Sex - 7
Male 85 45 130
Female 35 35 70
Total 120 80 200

The above data are represented by a
pie diagram. What is the sectorial angle
of the area representing male-migrant
category ? '

() 45°
(b) 22-5°
{c) 81°
(d) 67.5°




80.

81.

82.

83.

T& T 3R T 9 $T 7619 ST6e qHH
T 1 M & AT & T AT T H HIIT
Fafd A e ?

() m:6

(b) 1:1

() 6: 7

@ 3:7

afe 7 cos? B + 3 sin2 @ =4 AR
0<8 < %@ftan@ﬁﬁﬁw%?

@) 7

(b) %

() 3

@ 3

Faatsa it 988 & FAT AT ST Gl
27?

(3) FTRARAT-TGIA

(b) @mafe @

(c) TREAIT-TeA

(d) Iode off

"y D__E
125° 80
C
/@o
Y . %

y
z—%& .
i T3 @Y X, ¥ T Z gATFIRR § 8T
&Il SR o7 # Uiy AR S| LAFB
F AW AR ? '
{a) 20°
(b) 15°
{c) 30°
(d) 10°
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84.

85.

c
E D
A B
(£LADB =2 AEB = 90%)
9 o v oy & Tl & el w
ﬁ'ﬂ'l?'ﬁﬁﬁ:
1. ADAC~ A EBC
2. CA/CB=CD/CE
3. AD/BE = CDICE
SHE AT T TEr g ¢
(a 1,2, 3
(b) FEF I, 2
(c) a1, 3
@ Fae2, 3
T o i T 0@ I F IR W
Filpd azadt $t ge fFafafag awren &
AR
SN | g | @ | §d
T
&y 85 45 130 -
) 35 35 70
Fel 120 80 200

sofeh at ‘T g e

oy o # | geT-gaTe At @ el

A AT & F AT R TR T
(a) 45°

b) 225°

(c) 81°

@) 675°
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86.

87.

88.

The inner and outer radit of a 7 m long
hollow iron right circular cylindrical
pipe are 2 cm and 4 cm respectively. If
1000 cm?® of iron weighs 5 kg, what is

the weight of the pipe ?

(a) 264 kg

(b) 132 kg

(c) 396 kg

(d) None of the above

Cbnsider the - following statements in
respect of a quadrilateral :

1. The line segments joining the
midpoints of the two pairs of
opposite sides bisect each other at
the point of intersection.

2. The area of the quadrilateral formed
by joining the midpoints of the four
adjacent sides is half of the total
area of the quadrilateral.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(¢} Both 1 and 2
(d) Neither 1 nor 2

Which one of the following numbers is
rot a square of any natural number ?

(2) 5041
(b) 9852
(c) 1936
@ 6241

T-DETA-K-FN - A
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89. What
rectangle, the perimeter of which is-

is the maximum area of a

18cm?

" (a) 20-25 cm?

(b) 20-00 cm?
(c) 19-75 cm?

(d) 1960 cm?

. If one of the roots of the equation
ax® +x-3=0is —-1-5, then what is the _

value of a?
(@) 4
(b) 3
© P
d -2

. Consider the following statements :

1. The HCF of x +y and x!0—y10 is

X+y.

2. The HCF of x +y and x10+y10 s
X+y.

3. The HCF of x —y and x10+ 310 is
x—y.

4. The HCF of x -y and x19—y1¢ s
x-.

Which of the statements given above
are correct ?

{(a) 1 and 2

() 2and 3

(¢c) 1and 4

(d) 2and 4




86. e ¥ 7 m Fll el I SFATHR GrEe!
o Y siaits @ sy Gt Fe
2 cm 3 4 om € 1 3R 1000 cm3 &7 a5
Skg &, @ 7ol ST I FTE 7

(a) 264 kg
(b) 132 kg
(c) 396 kg

(d) s ® & Fr AR

87. I & wafum frafafaa #a w
ﬁwﬁﬁq:

1. Frdier sporit 35 2 e s et

A I T@T G TF TR A
ofirde fimg W R A & |

2. AR ITHA RN & AeAfagel @
e R SR arel IS A 8,
T % Fol YA T ITET R |

IR 2 7 wEl ¥ P ar/¥ el
g/27

(a) e |
(b) A 2
(€) 1 ¥R2 A
(d TA1FE 2

88, Rt gt ¥ @ @t @, f
erquTien T @ g & ?
(a) 5041
(b) 9852
(c) 1936

(d) 6241
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89. 18 cm st afifer arer araa =1 afdeaw
SRl FT & ¢

(a) 20-25 cm?
(b) 2000 cm?
©) 1975 cm?

(d) 19-60 cm?

90. I THFT ax? +x-3=0% Y&l A TH
qA-15%, A g FMAA TR ?

(a) 4

() 3
(c) 2

(d) -2

91. frfafaa ot w ffeR fifsw
1 x+y3MXx0—yOFHCF x+y & |
2. x+y A0+ yOFTHCFx+y 8 |
3.‘x-'-y3ﬁTx10+y10?HHCFx—y%I
4. x—yd A0 yIOFTHCF x -y § |
qufth wul A A FT & @R & 7
(@) 132
by 233
) 1R 4
@ 2 ST 4
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g

L1

93,

9.

95.

96.

If0 < 9<% and p=sec’@. then which

one of the following is correct ?
@ p<l1 )

(b) p=1

(© p>1

d) p=1

In a triangle ABC,

ZABC=90°, LZACB=30°, AB=5cm.
What is the length of AC? '
(a) 10 cm

b)Y Scm

(©) 5v2 cm
@ 5v3 cm

When the roots of the quadratic equation
ax? + bx + ¢ = 0 are negative of recipro-
cals of each other, then which one of the
following is correct ?

(@ b=0
® c=0 7
¢y a=c¢
(d) a=—c

What are the roots of the equation
loglo(x2—6x+45)= 27 :
(a) 9,-5 '

® -9,5

(c) 11,-5

(d) -11,5

The sum of the roots of the equation

! +L=l 1s zero. What is the

xt+a x+b ¢
product of the roots of the equation ?

(a) _M
{a+b)
) 22

 T-DETA-K-FN - A

92.

(c) — (az;zbz).
2 b2

- . :
97. Let there be three simulianeous linear
equations in two unknowns. What can be

the number of solutions (if they do
exist) ? .

(a) One or infinite
(b) Only one

~ (c) Exactly two
(d) Exactly three

(For the next three questions to follow) :

The arithmetic mean, geometric mean and
median of 06 positive numbers a, a, b, b, ¢, ¢

where a< b <c are 53.’., 2, 2 respectively.

98. What is the sum of the squarés of all the

six numbers ?
(a) 40
(b) 42
(c) 45
(d) 48

99, What is the value of ¢ ?
(@ 1
(®) 2 ’
(© 3
d) 4

" 100. What is the mode ?

(@ 1
® 2
(c) 1,2 and 4
(d) No mode




92.

93.

94.

95.

96.

gfg 0$6<% i p=sec’d B, @

feafffge i dam o ag &7
{a) p<l ' - '
(b) p=1 '

() p>1

(d) p=z1

us gt ABCH,

ZLABC=90°, LACB=130°, AB=5cm
giacHrdai s g?

(@ 10 cm

(b) Scm

(c) 542 em

(d) 543 cm .

W%ﬂﬁﬂ"ﬁﬂaxz+bx+c=ﬂa?ﬂ\ﬁ
HUTHF X Th R & AT &, a
frfrfa fa s aTos aar & 7

@ =20

) ¢=0

(c) a=c

d) a=—c

FHIFT log, (2 = 6x + 45) = 2 A AT
g7
(a) 9, -5

®) 9.5
() 11,-5

(;!) -11, 5

AR — -+ —— = & % xelf 7 AW

x+ua x+b ¢
I & | TEIEOT & T AT qOEA T
27

@ — (a+b)
2
(a+b)
(b) 2

29

(a2+ bz)

() -

2

(u2 + bz)
2

@

97, @ witorg for 3 sraTe § i gETIR @
gt € | gl Y Fer 4T B gt §

(FRFE V) 7

(3FTer A TRAT & for) -
GWé@T@a,a,b,b,c,cﬁﬁa<b<c
2, & wWiaR ATER, i WA ST e
g 1,2,2 %1

98, W 6 G F TN FT AT FATE 7
(a) 40 - '
(b) 42
(c) 45
(d) . 48

99, c FTAM HTE 7
(a) 1
() 2
©, 3
d) 4

100. HIg AT 7
@ 1
(b) 2
) 1,2 ¥4

(d) = ArE TEl
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SPACE FOR ROUGH WORK
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T qF HTIHt Tg TUET qieTawT @i &1 7 Fgl Y aq a& « Q@

... : T-DETA-K-FN - wle giaeT s

| A

: 3 o | quf® : 100

AR

o gToW BN & o AT, AT TE e R S o v w S e gu e R
AT, BT AT G FIT TS AT TyATer o0 7 7Y | ufd Qav , At @ ey adreror qfawT & se
sty | _
Fere-w W) T 0L qder gt S A, B, C 1 D TRty e v & eag i |
W e gt | oy ¥ U g rsss ¥ s
YT A AT forgaT § | alimw ofee | i gm
ford |
%Htlﬁwg%iﬁrﬁloogamr(gaﬁ)%qﬂq%!mgamr%é}aﬁt@wﬂ%w% TF T
SR 9w (I) g 1 € | 5 & o geqee F1 g o, R s SR oo o€ sifker we e € |
uﬁmimaﬁ%@%aﬁamﬁﬁ%,a}wmﬂaﬁﬁa&ﬂmﬁmﬁqaﬁlm
AT & Q. et o € YR A R
anmm%mﬁmrmﬁﬁquqaawta’rarﬁa—cfm%wmﬁ%ﬁﬁqﬁi‘aﬁ%w
Y I & ¥ G |
T qee o e ) gieet & ffir gveial & goqeR IeR-aee 9K sifo 9T g &, sty g
gRTT-oo o &y A sRel F wER 3o G s § 3§
mmﬁmﬁmﬁaﬁwmﬁﬂﬁ%mwﬁm%wwmaﬂvmmaﬁﬁv
< I TR T AT T YRR S A A oA R
ﬁa%m%ﬁqmqﬁwg%w%aﬁﬂw%l
T I & forg e
aﬁﬁwmﬁﬁmmﬁqwmm%mﬁﬁmml
() 98F T & forg IR Fefes wwe € | oniimar g wds o ¥ g Ry o v e s F g

g3 7 Fraa fovn g st 1 we-faerd (0-33) € ¥ w9 #F ey s | _
Giy  afs ¥ Ifiear OF § afte 9v) dar @, 7 @ wera I9Y AT S, wﬁﬁqmﬁﬁﬁ%

U IR Fet o g, R ot 91 oo & forg svdigan & 9t axe @ g R o |
(iii)  7fs IIRER gRT I T8 g A oy ey R, srafq Iniear gry oo e Rr v @, v s
T ¥ fog avd e At i smom )

T qF AU Tg GO Qeqar @t & 7 FgT 0 aF aF T @S

Note : English version of the instructions is printed on the front cover of this Booklet.




